B -

Teacher: Teaches new knowledge (referred
to as the Environment in the diagram) by
linking it to the relevant knowledge that has
been retrieved from the Long-Term Memory
during the Connect activity and now sits in
the Working Memory.

Pupil: Follows the instruction of the
teacher. This will usually involve: listening in
silence to the teacher’s thinking (noise is a
distraction that can fill up the Working
Memory. This increases stress and reduces
the ability to learn), taking notes, annotating
a document.

Impact: Linking new knowledge to prior
knowledge that has been retrieved from the
Long-Term Memory means that there is
more space in the Working Memory for new
information. This strengthens mental
schemas so pupils can know and remember
more. Listening to a teacher explaining their
thinking is one of the most effective ways of
learning.

How to be successful during the ‘1 Do’
and improve your AtoL:

(] Listenin silence

(1 Make notes, annotate a document, listen
actively to what the teacher is saying.

[]  Answer questions.

(] Turn your planner to red if you need
support.
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Formative Assessment

Teacher: Will ask for feedback by asking
guestions, using mini whiteboards or Plickers.

Pupil: Will respond to the best of their ability or ask
for support if they are unsure.

Impact: Formative assessment is a quick way for a
teacher to know if a topic needs to be re-taught or
certain pupils need more support.

How to be successful during Formative
Assessment and improve your AtoL:

1 Even if you are not sure, give your teacher a
response.

1 Listen to the responses of other pupils.

_1 Uplift your verbal response by using better
vocabulary.

"1 Uplift your written responses in red pen.

Connect
Teacher: Creates a Connect activity at the
start of the lesson to retrieve relevant prior
knowledge (from a previous lesson or topic)
from the Long-Term Memory.

Pupil: Completes the Connect activity
without using their exercise book or notes
for support. If they don’t know the answer
they can find it from their exercise book and
write it out using their red pen.

Impact: Retrieving knowledge from the
Long-Term Memory improves the long-term
retention of knowledge. It also brings
relevant knowledge in to the Working
Memory so that new knowledge from the
lesson can be connected to it. This frees up
the demands on the working memory
(reduces stress) so pupils can learn more.

How to be successful during the
Connect and improve your AtoL:

1 Arrive to lessons on time.

71 Set up your desk with your equipment
(planner, pencil case).

1 Engage immediately with the Connect
activity.

1 Improve your answers with red pen.




The examples below are taken from English and History. They show examples of the Connect activity that has been completed in
black pen and then uplifted (improved) using red pen. The Connect is followed by the ‘I Do’ activity. In both subjects the pupil has
been given a model answer by the teacher and the pupil has listened to the teacher modelling their thinking aloud and annotated the
model example with notes. The model examples in the ‘I Do’ part of the lesson support pupils when they produce work independently.
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Timperialism was the most important cause of World War One because it raised
tensions and suspicions between the nations of Europsc'1mpenalrsm is a policy of
extending @ countries power through colonisation of other countries. This policy was
evident during the Scramble for Africa between 1880 and 1900 which significantly
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